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01. () Find the inverse function of f(x) = vx—3
{03 marks)

(i) Given f(x) = 3x—2and g(x) = 1x+§ s ﬁndg(f(ZX))-

3
{03 marks)
(iii) 2 ;
For a given function, f(x) = £ e of i ,
X241 if x2-2
a) specify the domain;
b) sketch the graph;
¢} find the values of £(0) and f[— ;]
{09 marks)
(iv) Evaluate the following limits:
. DB -18 ~3x+4
@ gm ZHEPLI gy o
x—>0 * x—4 o
' x 3 5
o | gl ~5x-9
¢ lim | X235 & tim T
x—3 £ x—aa 2x +3x
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{10 marks)

[Total 25 Marks]



02.

03.

{0

(if)

(i)

(i)

+

Differentiate the following functions with respect to x:

3
a) )’2.313— ----15-+x—23 \[x (Zx—x J
3x
5
'l
x“ +1 3
( e
= ol Bt dy y=e
c) y I
{15 marks}
2l Find z for the following functions.
n -2 =241 ) %y +3y% = x—4y
X—=y
(0Smarks)
If x:ZI[I—H‘ ] and y:(l*t )[1+I ) , then show that
dy
—=+x=0.
yd‘x g
{04 marks)
c) 3
f y = x(In x)z, then find = 3
dx
{04 marks)
[Total 28 Marks]
Find and classify all the critical points for the function,
y = x5—15x3+5.

Sy {07 Marks)
If the total cost function of a particular product is, given by
&
5 3.2 . ’
C(x) = Zx —7x+27 , find the following:
a)  Average Cost;

b}  Marginal Cost;

¢}  The level of output for which marginal cost equals average cost.
{06 Marks)



04,

(ii)

(i)

(ii)

(i)

(iv)

Afirm has the foflowing demand and the average cost function:
x=480-20p and AC = 10+%.

Find:
a}  thelevel of output that maximizes the profit;
b}  the maximum profit;
¢}  the price per unit, when this maximum level is achieved.
{12 Marks)

[Total 25 Marks]

Integrate the following:

a) [e*e*-1)dx B) [(x?+D(x+1)? dx.
{05 marks)
Use substitution method to integrate the following functions:
4
@ [xY2x5-5)% & b [x3e* &.
{05 marks)
Evaluate the following:
2 1.4 2 _
a) [(x+D(x—1)2x+1) dx . b) E o~ dx |
2
1 ' -1 x
{05 marks)

The marginal revenue function of a firm is given by MR =240 x, where x ,

the quantity produced, Find the total revenue and the demand function of the
firm.

{04 marks)

The demand function for a commodity is p:——20— 2x-x2. Find the consumer’s

surplus when quantity demanded is 3 units. ’

(03 marks)
[Total 22 Marks]



